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M ox
40 5 4

SHH SHY(STINLAH/2Y)

o =
HSHHA 23t

SN BAGIA) - HRAY - BES il HImEET

202 Od4dl 25,000 20,700 4,300

01 =L 25,000 20,700 4,300
OUEMHLt =S 25,000

206 M= Hl 1,000 2,060 A 1,060

01 MHZ 4l 1,000 2,060 A 1,060
O=d % S35 FS<4=E 1,000

HE2AIH (S22 (JIEH/IIE) 65,892 71,520 A5,628

Jl23&dl 65,892 71,520 A5,628

EM29 JI=2Z 4l 64,392 69,520 25,128

201 Let24E] 38,151 50,520 A 12,369

01 At 22l 36,666 49,000 AN 12,334
ORAN2Y AIR22lt| 36,666

02 =224l 1,485 1,520 A 35
ORNM2Y 3329l 1,485

202 oddl 16,021 8,680 7,341

01 = LH o4 1l 16,021 8,680 7,341
SN 2ol 16,021

203 YR =] 5,520 5,520 0

04 EA2IYRFLH| 5,520 5,520 0
©302! Olct 350,000& = 12& 4,200
©30Q =1t 5,000 *22H x 128 1,320

405 TtabF S 4,700 4,800 A 100

01 AL EFHSHI 4,700 4,800 A 100
oA 2,000
O =tdlol 2,000
o=sgol 700

g 2F 1,500 2,000 A 500

201 Let24d] 1,500 2,000 A 500

01 At 2teltl 1,500 2,000 A 500
ogxa FTE 7Y L A 1,500
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